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General Instructions
Read the following instructions carefully and strictly follow them
(i) This question paper contains 34 questions. All questions are compulsory.

(i1)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(iit) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(iv)  This paper contains 4 Short Answer Questions Type-1 questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

(vit) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

1. The measurement of Balance of Payments deficit is based on
transactions. (Fill up the blank with correct alternative.) 1
(A) Autonomous (B) Accommodating
(C) Current account (D) Capital account
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TEEH i, & TS 3Tl § BRIifhd 85 (AEFG) i1 euidi § 7 1
Y-axis 4 F/Y
E E Gr/C—c+bY
i > X-axis
0 A

[. 3997 > 3™
II. <=d =3 (0)
1. 399 < 3™
IV. 9= <3 (0)
CET
(A) 11l B) IIa1I0
(C) IIIalv (D) 191V
g g % fore
i s=a yard (MPS) % 1 GAH BT 2 |

(&l foeheq T T L |) 1
(A) 394 (B) <md
(C) s=a (D) Tew
frefafad 9 @ 37 9t Hwot i gga™ B, S foret oft sreferaen o faeef ggr <t amyfd
Eﬁﬁﬂﬁﬁwm% 1

[. i o Ush YR g1 shd SHIA
II. doveEd ¢@q 3T foesft wiesh
III. Microsoft gR1 US $ 500 faferm 1
IV. 3T=2RH gq ST S aTet WA ST

ey
(A) 1911 (B) IV
(C) IIaIII (D) 191V

@ TS TMCTRT GRI, 3T oh 38 T hl T8I Y, STal 38d s=a Jara (APS) S 8rft 1
(TE forehed ST TRA 1)

I (X IS) 0 | 50 | 100 | 200 | 300 | 400
I E@HAS) | 50 | 75 | 100 | 150 | 200 | 250
faweg -

(A) 50 (B) 100

(C) 200 (D) 0
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2.  Identify, what does the shaded area (AEFG), in the given figure indicate ? 1
Y-axis 4 E~ X
g
o
S | — C=c+bY
2, E G
£
=
2]
g
S
45 > X-axis
0 Income
I. Consumption > Income
II. Saving = Zero (0)
III. Consumption < Income
IV. Saving < Zero (0)
Alternatives :
(A) TandII (B) II and III
(C) III and IV (D) TandIV
For Visually Impaired Candidates :
Marginal Propensity to Save (MPS) is the slope of function.
(Choose the correct alternative.) 1
(A) Consumption (B) Cost
(C) Saving (D) Investment

@

From the following, identify the correct reasons that may affect the supply

of foreign exchange in an economy : 1
I.  Purchase of land in England by an Indian

II. Foreign tourists visiting Taj Mahal

III. Donation of $ 500 million from Microsoft

IV. Indian students going to Australia for studies

Alternatives :
(A) TandlII (B) IIand IV
(C) II and III (D) TandIV

4. From the given table, identify that level of income, where Average

Propensity to Save (APS) becomes zero :
(Choose the correct alternative.) 1

Income (% crore) 0 50 | 100 | 200 | 300 | 400
Consumption R crore) | 50 | 75 | 100 | 150 | 200 | 250
Alternatives :
(A) 50 (B) 100
(C) 200 D) o
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Ffg ferelt arelerawen & yrftes ST TR T 4,000 S & q1 ARf¥A 3@ (RR) 10%
2 | giia et 51 o1 4o 3 S B |

(TE forehen grn fard T <6t gfed & 1)

(A) 4,000 (B) 40,000
(C) 2,000 (D) 20,000
“sft TEEAT G Teh ¢ T o 3 b 1w sieh & Torarm 7 =kom |2
SURIRT HU Y 5T o Gehiad hId shi TgaH o ;
Q) fafm mem (B) oI T=
(C) W Hl 318 (D) Toifsa ™ = AH
Ife foreft sreferacen § SR Tger T 200 HUS I ©1eT AT T&T &, TUT 37T Hl G
% 900 S 7, a1 -t =1 gt 2 U BT |
(@Et fershed gra e Toam <t gfd 6t )
(A) 200 (B) 1100
(C) 700 (D) 900
Teh hicd(eh rdeTawer H, Al Tyui Jfaih 3T 1 IUHW fohan STt &, a1 et ores
H1 g 2 | (@1 fereren grn fard T < g & 1)
(A) 578 (1) (B) 3= (0)
(C) I (0) A THTS (1) & HEA (D) 3d ()

T o6, frforfiaa # & fopd wiva =61 wmr= et & e St g 2

A) 7 feoet fera ariifteh) gareme § shreitd Toh Wi TR |

(B) = o W gTeme H A Teh AR AT |

(C) TR et & foTu ShaTeT T Ush IR TSH R |

(D) =IETh e Teh S St o, b 9 & 31ferep 31afyr & foru sreid s wrd |

frfaRad el 1 STYEeh 75 & :

HYF 1 : ARTereh S o ARtereh HasT 31 o Tl T W aUs B # |

HYH 2 : T O figia o SHER, ST 3cdTeH JeATierd {HH 11 (AD) % SUSR BT # |
TeU T4 el & 3Tt §, Tfaiad § 8 Fel foshed o1 994 shifoe

(A) HYT 1 FT 2 I HAUT 2 A2 |

(B) %Y 13T I FHIT 2T 2 |

(C) HF 13N 2 TAE |

(D) YT 1 3 2 I 3EAE |
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If in an economy the initial deposits are ¥ 4,000 crore and Reserve Ratio
(RR) 1s 10%. The value of total deposit created would be crore.
(Fill up the blank with correct alternative.)
(A) 4,000 (B) 40,000
(C) 2,000 (D) 20,000

“Mr. Sahotra borrowed funds from bank for purchasing a new house”.
From the above statement, identify the indicated function of money :

(A) Medium of exchange (B) Store of value

(C) Unit of account (D) Standard of deferred payments

If in an economy the Balance of Trade is showing a deficit of ¥ 200 crore
and the value of import is ¥ 900 crore, then the value of exports would be

3 crore. (Fill up the blank with correct alternative.)
(A) 200 (B) 1100
(C) 700 (D) 900

In a hypothetical economy, if entire additional income is consumed, the
value of investment multiplier would be

(Fill up the blank with correct alternative.)
(A) One (1) (B) Zero (0)
(C) Between zero (0) and one (1) (D) Infinity ()

Identify, which of the following is not considered as ‘Normal Resident’ of India ?

(A) An Indian citizen working in U.S.A. embassy located at New Delhi.

(B) An Indian officials working in Indian embassy in China.

(C) An Indian diplomats visiting Canada for a summit.

(D) An Indian working in an American Company located in New York for
a period of more than 1 year.

Read the following statements carefully :

Statement 1 : Ex-post savings and Ex-post investments are equal at all
levels of income.

Statement 2 : Under the effective demand principle, the equilibrium
output is equal to ex-ante Aggregate Demand (AD).

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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(a) THfREd HiwSi & YR W HET AN W g Jed Ihg (NVA) i T0HT

Eﬁi .

ER: L Tl (X 7 )

i) | el G Tl (et 15
S hTet-5 99)
(i) | =ie feshi 220
(iii) | e | Ui (-) 10
(iv) | Fem 10
(v) | UoheT ITART IcTeh TEY 100
(vi) | 7o g 20
AT

(b) Treferfiaa stterei grI, g STcTat L 1 et T7d B :

F . e Tl (X U H)
@) TSR 4 W g, TEH 3c1S (NNPypp) 1,400
(i) | focen @ 9TH g SR A () 10
(iil) | ETEE AT T Hehed TFA 341G (GNP 1,300
(iv) | Feor dSht <t 3usm 80

13. Tafafaa stierel o g STderan § et TuTeh & 37T o TaX <hi 0T i :
(i)  wRMes e 5 i@ (AT) = % 1,000 FUS

(i) Ha s=a sEfa (MPS) = 0.5

(i) TR 39U (C) = T 50 HS
(iv) frfaa femr =2 100
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13. From the following data calculate Investment Multiplier and Equilibrium
level Income in the economy. 4
(1) Change in initial investment (AI) =% 1,000 crore
(11) Marginal Propensity to Save (MPS) = 0.5
(111) Autonomous consumption (¢) =T 50 crore

(iv) Planned investment =¥ 100 crore

@ [

11. “Trade Deficit must exist, if a country is facing situation of Current
Account Deficit (CAD).”

Defend or refute the above mentioned statement with valid arguments. 3
12. (a) Calculate Net Value Added at Factor Cost (NVA-) from the following
data : 3
S. No. Particulars Amount (in ¥ Lakh)

(1) Fixed capital goods 15

(expected life span — 5 years)

@® (11) Domestic Sales 220

(iii) | Change in stock 10

(iv) Exports 10

(v) Single use producer goods 100

(vi) Net indirect taxes 20

@® OR

(b) From the following data, estimate the value of Net Indirect Taxes : 3
S. No. Particulars Amount R in crore)

(1) Net National Product at 1,400

Market Price (NNPyp)

©

@® (11) Net Factor Income from (-) 10

abroad

(111) Gross National Product at 1,300

Factor Cost (GNPp.)

(iv) Consumption of fixed capital 80

@®

@®

©
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14. “Open Market Operation by the Reserve Bank of India (RBI) helps in
regulating money supply in the economy.”

Justify the given statement. 4

—
ot

(a) (1) “With an objective to reduce inflation, government may reduce
public Expenditure.”
Discuss the rationale behind such a step which may be taken by

the Government. 3
(11) Define Effective Demand Principle. 1
OR
(b) (1) State the meaning of ‘unintended accumulation of inventories’. 1

(11) “In an economy, Aggregate Demand (AD) is more than
Aggregate Supply (AS).”
Elaborate the possible impacts of the same, on the level of
output, income and employment. 3

—
S

(a) (1) With suitable examples Distinguish between Direct tax and
Indirect tax. 3
(11) Responding to the Prime Minister’s ‘Give it up campaign’ a
large number of Indian families have voluntarily surrendered
their cooking gas subsidy.
Identify and explain the objective behind this action taken by

the Government of India. 3
OR
(b) (1) Daistinguish between Revenue Receipts and Capital Receipts of
the government, with suitable example. 3

(11) “Under ‘“Zero Defect, Zero Effect’ (ZED) scheme, the
Government of India provides up to 80% subsidy to Micro,
Small and Medium Enterprises (MSMEs).”

Identify and explain the objective of government budget,
highlighted in the above text. 3

—
~

(a) As per The Economic Times report, dated April 11, 2023
“Electric Vehicle sales cross 10 Lakh mark in financial year 2022-23.”
Analyse the likely impacts of this news on Gross Domestic Product

(GDP) and Welfare. 3
(b) Discuss briefly, the circular flow of income in a two sector economy
model. 3
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TRt e o)

frfeiiaa el 1 SYEs STERE &

HY 1 : =7 7 rfaics g 9 i Taat 6 3afd & o ueHifaes Sfdegar =1
WY oM, ST e o ST YA fohaT o |

Y 2 : TR, TTThEAH o < <hl Wifceh @Tem FU=Ta1stl B i Il THHAT § T eh!
Ttiforeh et faege fi=1 8 |

(A) HYF 1 FT 2 MNHAT 2 TR |

(B) % 13T ZINFYT 2T R |

(C) ST 1IN2TATAE |

(D) %9 1 3 2 THI 3T 2 |

frfaiRad el 1 SYEe 3T i

HYT1: HaTs fegrdl Aftepl o TR 3NgR W W W W@ JA@T | 97 3%
TR GReat oy ot T 2 |

HYT2: 9 FA H USIR ITH TAT SUSIR ST Skl bl AiEietd fehal [T 2 |

Tew U T % 3tedres H, Freforiaa § 8 ot foered w1 wmm Hifs

(A) HUT 1 T2 I HAYT 2 IFA 2 |

(B) U 1 AT S M HAT 2T 2 |

(C) H13IM2SA TR |

(D) YT 1 3 2 I 3T E |

frdt Ty o Teohdh Sl TS d TS fdeh i oF o satfershr anfier 6
i o AT o &Y H g fohan S Eehar |

(TE forehed g fiar T2 <6t gfd & 1)
(A) 3TRieh (B) e
(C) SHHIEIh (D) Tl
He&H = (Micro Finance) hl JISHT ol O YTEE o W1ery § Rt
fer ST ® |

(Tl forehed g T T i gfd i 1)
(A) T HEHAl 98 (B) fy ferpra o
(C) &t Tmfiur Sk (D) =forfSues s
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SECTION - B

(Indian Economic Development)

Read the following statements carefully :

Statement 1 : China has used Market system mechanism without loosing
political commitment to create additional social and economic
opportunities.

Statement 2 : India, Pakistan and China have similar physical
endowments but totally different Political systems.

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Read the following statements carefully :

Statement 1 : Casual workers are hired on a permanent basis and also
get social security benefits.

Statement 2 : Workforce comprises, both employed and unemployed
person.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

indicator may be defined as the measure of the extent of

demographic participation in Social and Political decision making in a

Country.

(Fill up the blank with correct alternative.)
(A) Economic (B) Health
(C) Demographic (D) Liberty
The scheme of ‘Micro Finance’ is extended through credit
provision.

(Fill up the blank with correct alternative.)
(A) Self help groups (B) Land Development Banks
(C) Regional Rural Banks (D) Commercial Banks

58/5/3/RR5SP/22 P.T.0.
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TfehET H 3ATTIeh LRI 3T TRA U T ZI AT | 1
(@t forehe gra fr T <6t gfd W 1)
(A) 1978 (B) 1980
(C) 1988 D) 1991
FrfaIRad el 1 SIYEeH 3T i 1

Y 1 : STRI ITIVT JTfehTor UfshaT o TEwaqol qiomHi § 8 T 2 |

YA 2 : ATSTH < BT, g WA HETT A TIeell § 3797 SR H Jhg i 7 |
few T et o 3netiss 0, FreAforfaa § @ w& foerew 1 =Em Hifs

(A) HYF 1 I 2 M HAT 2 IEA 2 |

(B) e 1 3T E INFIT 2 TR |

(C) ®13IM2SATAE |

(D) %2 1 3R 2 qHI AT ¢ |

fratefga faz =1 st =t 1

Sheeps and Pigs —Others
Goats

—
I
¥ ( S —— —
i 4 al D\
% ==
KR ~ | ——— — — . =
X XA, -
2
KX *
i
polamm
7
—

£35S
Cattle and ::0‘:':0
Buffalos

Ao TR R s E % i TR TR 3 e e |
(@t forehe gra e T <61 gfd i 1)

Torpeu :
(A) TYITEH (B) He=dTe
(C) 3™ fagm (Smmar) (D) Sifaes BN

Tt Toh UEH! TOTTCA 7, S TR S i GEAUd i, SHC W@ 9 gig
i H FERh Bt ¢ | 1
(A) wg-wH= (B) TEmfeh
(C) e (D) uTfEs
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Introduction of Economic Reforms in Pakistan took place in year . 1
(Fill up the blank with correct alternative.)
(A) 1978 (B) 1980
(C) 1988 (D) 1991
Read the following statements carefully : 1
Statement 1 : Outsourcing i1s one of the important outcome of

globalization process.

Statement 2 : Owing to globalization, many Indian companies have
expanded their operation abroad.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both statement 1 and 2 are true.
(D) Both statement 1 and 2 are false.

Study the following picture :
=3
Sheeps and Pigs ~Others
Goats
e
Cattle and f:::‘:'::&’:"’ %?
Buffalos ] Poultry
GA%
Identify the kind of activities, which may be envisaged under as
diversification activity. 1
(Fill up the blank with correct alternative.)
Alternatives :
(A) Animal Husbandry (B) Fisheries
(C) Horticulture (D) Organic farming

For Visually Impaired Candidates :
farming is a system that is helpful in restoring, maintaining and

enhancing the ecological balance. 1
(Choose the correct alternative to fill in the blank.)

(A) Multilayered (B) Chemical

(C) Organic (D) Conventional

58/5/3/RR5SP/22 P.T.0.
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T ST WA Sreferaee % Ao Sivd % &9 i snyREH b T % 0D
TRER Y |

I. A fEehIol § GehNIcHe THadH oM

I, 3 %1 99 foauo

IT1. SEnfes 3=

IV. 3TRie fawsH 3 9ig

ferepeq

(A) I9Il (B) II9III

(C) IFIII D) IaIV

= % IR H Hicd-1 | & T8 g1 G hiem-11 § U 7TT qEHER qei & g8t I 61
%Pﬂﬁ

HictH-1 Hicd-11
(a) | TCEATCH IiEdH (G) | Hifta sl
(b) | I Y BiEE IR (i) | = segati 61 Afvas At | w
(c) | STehfceh THTEAT  SRIFT 9L 37cd oA (iil) | SFEEAT T 3T T
(d) | 2014 ¥, HeheT T 3G H T (v) | 3reuries sfEnfiehiento W dfed

217.

Torepey
A @-0 B) (b) — ()
(C) (o) — (i) D) (d)-(@{v)

11 AT 1 dfeu : e (A) T SR (R) | = feu fomredi @ @&t fashen giw

AN (A) : Tsrfesr smem = e wRa U T Sfenfiren Smaw foshfad T&i ot ar
o |

HROT (R) : 3TN 3 Ufdeencdess SR it o1 ure foham or, fSe@ adie sy
I BT Tt foreft |

ICETC

(A) 3R (A) 3T ST (R) SHT T & 3T SR (R), ARTHAT (A) 6l TEt =men
2|

(B) 3fheM (A) 3T RO (R) ST OcF & ek SROT (R), 30heA (A) &t @&t
T 81 hLdT & |

(C) IRHeH (A) T &, Tifeh 0T (R) 3EH 2 |

(D) U (A) 3T B, WiehT ST (R) T 2 |
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After independence, the rationale behind choosing Modernization as a

planning objectives for the Indian economy were . 1
I.  To bring positive changes in the social outlook

II. Equitable distribution of income

III. Technological Upgradation

IV. Increase in Economic Divide

Alternatives:
(A) TandII (B) II and III
(C) Tand]III (D) TandIV

From the events given in Column-I and facts given in Column-II about

China, choose the correct pair : 1
Column -1 Column - I1
(a) | Structural transformation (1) | Limited Urbanisation

(b) | Great leap forward campaign | (i1) | Reduced global demand
for Chinese products

(c) | Less stress of usage on (111) | Low density of population
natural resources

(d) | Slowdown in GDP, since 2014 | (iv) | Aimed at massive

N
=~

industrialisation
Alternatives :
A) (@)-0 B) () - 1)
(C) (o) — (1) D) (d) - @v)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : India could not develop a sound Industrial-base during
the British rule.

Reason (R) : Britishers followed restrictive trade policies, which
strengthened Indian handicraft industries.
Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) 1s false.
(D) Assertion (A) 1s false, but Reason (R) 1s true.

58/5/3/RR5SP/22 P.T.0.
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28.
29. (a) T T Go ¥ URA & faesft =mam W ffew ittt femon wenfig &0 °
g faet oft 1°
34 qehi g feu U e w1 Sfifacy fag =l |
YT
(b) “fsfes e & A9 e & foeem A W™ gEneHl & sfufafes S
TiedTTed foham o |7
1 qeht g feu MU e o Sifae g i |
30. feu 7u Stimel i TERAT ¥ 9Y HRUN gRI, =H I UThEAE ol SHEET aTbe et 9
STECihToT Y et 9 ToreTor o
SATfRehl Hehaeh, 2017-18
< FghE | SHEET S R |y | e
SHEen | e gty e I | )
(Fferm o) fa =t f6.1t.)
T 1352 1.03 455 924 | 2.2 34
< 1393 0.46 148 949 | 1.7 59
PlEasE] 212 2.05 275 943 | 3.6 37
31. (a) USHIR 9 Hehel BT] 3CUTG o HHTCTRET 3T T HLERH i | 1990-2012 % AL
3 & = o1 S o fergersr & |
TR gfeg 2R Fehet TRe] 3TE 1951-2012 (%)
10
9 8.7
g //\W
: s BB 61 6.1
5
4] 36 42 S /"4-8 \3¢/
2 "/‘/1.99 1.84  1.73 1'89\‘/15 A%S
. i - 1.12
1951-56 1956-61 1961-66 1968-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012
- GDP = 3SR
gi¥aTiRra alemeffa & fore

wedt &t 8 fafira St s oreior & & srfues =i @ E 2
(b) TR — SHEEAT U hI THHTOT . |

58/5/3/RR5SP/22

3



=3

Oy,

" collegebatch con

28. Explain the role of quality education in human capital formation in a

country.
29. (a) “Opening up of Suez Canal helped in establishing the British
monopoly control over India’s foreign trade”.
Justify the given statement with valid arguments.
@® OR
(b) “Development of Railways during British rule encouraged colonial
exploitation of the Indian resources.”
Justify the given statement with valid arguments.
©
30. From the given data, Compare and analyse Annual growth of Population
and Urbanisation of China and Pakistan, with valid reasons :
@ Demographic Indicators, 2017-18
Country| Estimated | Annual | Population | Sex [Fertility Urbanisation
Population | Growth of | Density |Ratio Rate
(in million) |Population| (per sq. km)
India 1352 1.03 455 924 2.2 34
ina 3 .

Chi 1393 0.46 148 949 1.7 59
@® Pakistan 212 2.05 275 943 3.6 37
31. (a) Study the following chart of Employment and Gross Domestic
Product. Analyse the trend of the two variables between 1990-2012. 3
Growth of Employment and Gross Domestic
Product. 1951-2012 (%)
10
e : A
8 / 7.8
Z 5.7 5.8 6.1 6.1
5 3.6 4.2 /,4.8 \34/

4 1+— - 3-8
Ty v

199 184 173 189 W 2.28

O] 2 5 N\ 1
: W_.—_.\.\AS — .

0 T T T T T T T T T T T T
1951-56 1956-61 1961-66 1968-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012
~-GDP - Employment
For Visually Impaired Candidates :
Explain why are regular salaried employees more in urban areas
® than in rural areas. 3
(b) Define Worker — Population Ratio. 1
58/5/3/RR5SP/22 Page 19 P.T.O.
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. (@) () “9nd ® urfior & Y mdaT T T led hid oh folU STURYA ST

o o N

ferehfard BT 3Tavas 2 |

w
[\

1= b G T 1T e o1 St forg =i | 3

(i) ‘AFa o’ o1 31 ford | 1
e

(b) “YTRA S TY H, USHTR Foi o 1T WRISTR Teh HEaqUl T8 YEH Hia & | 4

=T b o ST WX T T e ohl THT 7T T i |

33. (a) (1) “9Rd T 1950-1990 st it T 3Menfies A d T i Jeued o Ak

qrfieRl T 3TTavges I TR o |
T SR g0 feu T4 e o1 Sfifaey fag i | 3
(i) “1991 i T3 (R il 7 TTEA W URA o/ b 1 YfHehT !

gfafaa =t feam o 1”7
= ST g feu e e w1 st fag i | 3
3teraT
b)) () Tafes w5 Fata YT seERes g@ET ° teclifehd gieddl 6
T | 3

(i) “URd THR sl FacT Hifd 7 T ITHAT 6 eI Bl IR H FERIaT
g
AT 379 feT 7T S W HgHd & 7 W debl gRI AU I 1 3y g
| 3
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(1) “Infrastructural development is an essential element to obtain

o

[\
~

V)
~

the full potential of the rural sector in India”.

Justify the given statement with valid arguments. 3
(11) State the meaning of ‘Human Development’. 1
OR

(b) “In a nation like India, self employment provides an important

avenue for employment generation.” 4

Defend or refute the given statement with valid arguments.

w
@

(a) (1) “Direct and active participation of state was considered
essential in Industrial development process in period 1950-

1990.” 3
Justify the given statement with valid explanation.

(11) “New Economic Policy 1991 altered the role of Reserve Bank of
India (RBI) in the economy.”

Justify the given statement with valid explanation. 3

OR

(b) (1) Explain the changes that were observed in India’s occupational

structure during the British rule. 3

(1) “Navratan Policy of the government has helped in improving

the performance of Public Sector Undertakings in India.”

Do you agree with the given statement ? Justify your answer

with valid arguments. 3

58/5/3/RR5SP/22 P.T.0.
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[aiEiHd
34. frafeiRad eI o1 e 3TERE i :

RA 3 2030 T Y 1 ‘S1eq Jetal’ (Carbon Intensity) sl ST 45% & HH Hid
H A W 2 | 39 9 A & fof Ra o’ (Green finance) T Tgaqul firest
faTar 2 | arfrer =run | gia o ol IR @ 92 WichTed <hl STE9Iehdl @ | WId 9Tk
a3 25,000 Eh_a@ EYRtOISEIR IR UgaH <hl ‘%’, ﬁl% Hﬂﬁ g EIS (Sovereign
Green Bond) st 31 & fo qifva fepan smaem |

fora et g STHIfed T % 3THER "9y 8Rd 18 (Sovereign Green Bond)
TR 1, Ty Uied, es qieed, TRuE 9 o SAARIY Ja6- qU1 Jguu
foremror Tfgd wresten qiEsTTST o oo W e higa |

g fod v e a1 el i i alwl @ A fra g 2 | 98 3= o=
TiEofi Argel 3R fafemi o1 9Tel % Td 38 YehR TuTfad Uil & S § Fgrial
X ThAT 3 | Fad_ foehTd FATST 1 STH el SHERI o e I3 § gfg 2t 7 | T1eh
U wiiei ol e ld & S T8 Felq foreht® Teali i 31T & | g fort gr s St
FIE SR 3 Haq [ vome ft I ArTa s=H, el i Awved § 9hg
3Tl H T L € |

— The Economic Times, 313 22, 2023 (HMier)
few 7T e e T wuS o YR R EferRad g 6 ST S

(a) aq foehrE o1 aferfyd =t | 1

(b) UHT WIS TS &1 1 3GTeT <, STal 89y BRd o1 (Sovereign Green
Bond) #f=5a g 7 2

() Bia for & saawm™ 8 emif=rd &1 dehd & 7 3
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34. Read the following text carefully :

India has aimed to reduce the country’s carbon intensity by approximately
45% by 2030. To achieve this ‘Green finance’ plays a vital role. At the
initial stages, green finance needs a big push from the government. The
Indian government has identified projects worth ¥ 25,000 crore that will

be financed by proceeds from Sovereign Green Bonds.

According to the framework approved by finance ministry, the sovereign
green bonds will focus on financing public projects including renewable
energy, climate change, clean transportation, sustainable water and

waste management and pollution control.

Businesses that take green finance can get benefit in various ways. It can
help them follow different environmental norms and regulations and thus
avoid possible fines. Adopting sustainable developmental practices
enhances brand value of businesses. Customers tend to prefer brands that
adopt clear sustainable development practices. The energy-efficient and
other sustainable development practices promoted by green finance also

often help in saving cost, boosting profitability of businesses etc.
— The Economic Times, April 22, 2023 (Modified)

On the basis of given text and common understanding, answer the

following questions :
(a) Define sustainable development. 1

(b) State the public project areas, where Sovereign Green Bond are focussed. 2

(¢) How can businesses get benefit from green finance ?

58/5/3/RR5SP/22 Page 23
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